Half-Reaction E°(V)
Ag*(aq) + e — Ag(s) +0.799
AgBr(s) + e- —> Ag(s) + Br (aq) +0.095
AgCl(s) + e~ — Ag(s) + Cl (aq) +0.222
Ag(CN), (agq) + e~ — Ag(s) + 2CN (aq) —-0.31
AgoCrOy(s) + 2e” —> 2 Ag(s) + CrO,,z'(aq) +0.446
Agl(s) + e — Ag(s) + I (aq) —0.151
Ag(SZO3)23_(aq) + e — Ag(S) + 2 82032'(aq) +0.01
AP*(ag) + 3¢~ — Al(s) —-1.66
H3AsO4(aq) + 2H (ag) + 2¢” —> +0.559
H3As0s(aq) + HyO(1)
Ba“(aq) + 2e- — Ba(s) —2.90
BiO*(aq) + 2H"*(aq) + 3¢~ — Bi(s) + H,0()) +0.32
Bry(l) + 2e” — 2 Br (aq) +1.065
2BrO; (aq) + 12H"(ag) + 106~ — +1.52
Bry(I) + 6 H,O(l)
2CO,(g) + 2H*(ag) + 2e~ — H,C,04(aq) —0.49
Ca’*(aq) + 2e” — Ca(s) —2.87
Cd**(aq) + 2e~ — Cd(s) —0.403
Ce**(aq) + e« — Ce**(ag) +1.61
Cly(g) +2¢” — 2Cl (aq) +1.359
2HCIO(aq) + 2H (aq) + 2¢” — +1.63
Cly(g) + 2 H,0())
ClO (aq) + HyO(l) + 2¢™ — +0.89
Cl (aq) + 2 OH (aq)
2ClO3 (aq) + 12H" (ag) + 10e” — +1.47
Cly(g) + 6 HO(1)
Co?*(agq) + 2e~ — Cols) —-0.277
Co’*(ag) + ¢~ —> Co**(aq) +1.842
Cr’*(aq) + 3¢~ — Cr(s) —0.74
Cr’*(ag) + e —> Cr*¥(aq) —0.41
CrO;* (aq) + 14H"(aq) + 66~ — +1.33
2Cr**(aq) + 7 H,0()
CrO42 (aq) + 4H,0()) + 3¢~ —> —0.13
Cr(OH);(s) + 5 OH (aq)
Cu’*(aq) + 2~ —> Cu(s) +0.337
Cu“(aq) + e — Cu+(aq) +0.153
Cu®(ag) + e — Cu(s) +0.521
Cul(s) + e- — Cu(s) + I'(aq) —0.185
Fy(g) + 2" — 2F (ag) +2.87
Fe’*(aq) + 2e~ — Fe(s) —0.440
Fe’*(ag) + e — Fe’'(aq) +0.771
Fe(CN)s> (aq) + e~ — Fe(CN)g* (aq) +0.36
2H"(aq) + 2¢” — Hy(g) 0.000
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